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^uq¿ ,l=Kq 40& 

m<uqjk m%Yakh i|yd fhdað; W;a;r(   
 
1.1 (4) 

                    3 −
2

3
𝑥 = 1 

 

             2   =
2

3
𝑥                                  

                             X = 3 
 ^,l=Kq 03& 
1.2 (4) 

 𝑆 = 𝑋(1 + 𝑟)𝑛  x= 20 000, n = 3,    r = 0.08     
 
 𝑆 = 20,000 × 1.083 
  
            S   = 25,194 
 

fmd<sh   = 25,194 – 20,000 = re 5,194     ^,l=Kq 03& 
1.3 

(3)  
 
 
 
 
 
 

 

   
8

30
 

^,l=Kq 03& 
1.4 (1) 

 𝑃 =
𝑃1

𝑃0
× 100 

 

𝑃 =
1,000

1,200
× 100 = 83% 

^,l=Kq 03& 
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1.5  (1) 

𝑟 =
n ∑ xy −  ∑ x . ∑ y

√(n ∑ x2 −   (∑ x)2 ) (n ∑ y2 −   (∑ y)2 )
 

𝑟 =
8  X 160 –  44 X 30

√(8 ×  284 −  442 ) (8 ×  120 –  302 )
 

𝑟 =
−40

20,160
 

                                     = - 0.28 
^,l=Kq 03& 

1.6 (2) 

L1 = 30.5, ∆1= 32 − 25 = 7   C = 10 

                           ∆2= 32 − 30 = 2 

𝑴𝒐 = 𝑳𝒊 + [
∆𝟏

∆𝟏 + ∆𝟐
] × 𝑪 

𝑀𝑜 = 30.5 + [
7

7 + 2
] × 10 

 

                            𝑴𝒐 = 𝟑𝟖. 
^,l=Kq 03& 

1.7       (2) 
 P(X < 3) = 0.35 + 0.30 = 𝟎. 𝟔𝟓 

^,l=Kq 03& 
 
1.8       (2) 
                                EAR = (1 + r/N)N − 1           
                             
                                EAR = (1 + 0.12/2)2 − 1 = 12.36%       

^,l=Kq 03& 
1.9      (2) 
                                 S = X(1 + r/N)n×N                         x= 100,000, n = 2,    r = 0.16,    N= 4 

                    S = 100,000(1 + 0.16/4)2×4     

                                 S= re.136,857/- 
^,l=Kq 03& 

1.10     (3) 

           Y = 𝟐, 𝟒𝟑𝟗. 𝟖𝟎 − 𝟏𝟒𝟓. 𝟒𝐗                          

    X ys w.h jir 2023 úg  7fõ' 

        T = 2,439.80 – 145.4 ×7 

     = 1,422 
 ^,l=Kq 03& 
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1.11 
 A    (3) 

 B    (4) 

 C    (2) 

 D    (1) 
^,l=Kq 01 ne.ska ,l=Kq 04& 

1.12      
              23 + 27 = 50 

fuu iud.fï jdykhla we;s fiajl ixLHdj = 50     ^,l=Kq 02& 

                                                                                                                          
1.13  
       𝐓𝐧 = 𝐚𝐫𝐧−𝟏        

             T12 = 3 × 212−1 = 6,144                    

             T12 = 3(2)11 =   𝟔, 𝟏𝟒𝟒 
  

 ^,l=Kq 02& 

1.14 wi;Hhs 
 ^,l=Kq 01& 

1.15 i;Hhs                                                                              

  ^,l=Kq 01&  

^uq¿ ,l=Kq 40& 

 
 

 
  

A fldgfiys wjidkh 
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^uq¿ ,l=Kq 40& 
 

fojk m%Yakh i|yd fhdað; W;a;r( 

mßÉfþoh 01 - .‚;fha uQ,sl ixl,am 

(a) 
             2x + 3y =   0                       1 

3x + 4y =   5                       2 

             1   × 3 =  6x + 9y       =  0                          3 

             2   × 2 =  6x + 8y       =  10                        4 

             3   -     4        

                             y   = -10 

 
             1     2x + 3y =  0 

              2x + 3(-10) =  0 

                           2x   = 30 

                            x    = 15         ^,l=Kq 03& 

 
                                                                                                                

(b)        
   A   B   C 
 
wkqmd;h 4 :  3 :  3 
 

iudkqmd;slh 
4

10
  

3

10
  

3

10
 

 

         (i) uq¿ wdfhdackh                = 1,200,000×
10
3

 =re 4,000,000 

^,l=Kq 02& 

         (ii)  A úiska lrk ,o wdfhdackh = 4,000,000×
4

10
= re.1,600,000 

               fyda  

         A úiska lrk ,o wdfhdackh =  1,200,000×
4
3

= re 1,600,000 

^,l=Kq 02& 
   

 
 

 

fldgi - B 
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(c)  
 COVID-19 iólaIKh iDK jQ m%;sY;h               = 30% 
  
 COVID-19 iólaIKh iDK jQ fiajl ixLHdj  = 180  
 

             COVID-19 iólaIKh Okd;aul jQ fiajl ixLHdj = 180×
70
30

=  𝟒𝟐𝟎 

^,l=Kq 03& 
^uq¿ ,l=Kq 10&  

 
;=kajk m%Yakh i|yd fhdað; W;a;r( 

mßÉfþoh 03 - jHdmdr i|yd uq,H fufyhqï mshjr 

 
(a) 
uq¿ msßjeh iólrKh (TC)      = úp,H msßjeh  + ia:djr msßjeh 

                                     =  5q2 + 24q + 90,000  

uq¿ wdodhu iólrKh (TR)    = b,a,qu  × m%udKh   

                                                        = (39 + 5q) × q 

                                           =  39𝐪+ 𝟓𝐪𝟐 
^,l=Kq 04& 

(b)        

wdka;sl msßjeh ^MC& iólrKh = 
𝐝 (𝐓𝐂)  

𝒅𝒒
 

 

                                       
d (TC)  

𝑑𝑞
   =   

d (5q2 + 24q + 90,000)  

𝑑𝑞
    

                                      MC    = 10q + 24 

^,l=Kq 02& 
(c)   iuÉfþok ,laIHh   

                TR = TC 

  39q+ 5q2 = 5q2 + 24q + 90,000 

                           39q - 24q = 90,000 

               15q = 90,000 

               q  =  tall 6,000 

 

 iuÉfþok tall m%udKh = tall 6,000 

  ^,l=Kq 04& 
 

 ^uq¿ ,l=Kq 10& 
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y;rjk m%Yakh i|yd fhdað; W;a;r(   

mßÉfþoh 05 - m%udKd;aul úp,H folla ixikaokh lsÍu 
 
(a) ∑ X =42 ,   ∑ Y=4.57  ,   ∑ XY =27.65 ,   ∑ X2 =280,   n = 8                                              

x y xy x2 

3 0.41 1.23 9 

4 0.59 2.36 16 

1 0.18 0.18 1 

5 0.65 3.25 25 

4 0.57 2.28 16 

7 0.69 4.83 49 

10 0.84 8.4 100 

8 0.64 5.12 64 

42 4.57 27.65 280 

 

    b    =  
𝐧 ∑ 𝐗𝐘 −  ∑ 𝐗 ∑ 𝐘

𝐧 ∑ 𝐗𝟐 −  (∑ 𝐗)𝟐  

    b  = 
(8 × 27.65) –42 × 4.57

(8 × 280)−422  

     b  = 
 221.2 – 191.94

2,240 −1,764
 

     b  =  
29.26

476
 

     b =  0.0615 

    a   =    𝒀̅ − 𝒃𝑿̅ 

           =    
𝜀𝑦

 𝑛
− 

𝑏𝜀𝑥

𝑛
 

           =    
4.57

8
− [0.0615 ×

42

8
] 

           =   0.571 – (0.0615 × 5.25) 

           =   0.571– 0.323 

      a   =   0.25 

 
wvq;u j¾. m%;smdhk f¾Ldj 

      𝑌 = 𝑎 +  𝑏𝑥 
       𝒀 = 𝟎. 𝟐𝟓 +  𝟎. 𝟎𝟔𝒙   

                  ^,l=Kq 07& 
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(b)  újD; l< neÆ .%dylhska ixLHdj x = 900 

 
                                       Y = a + bx 

   Y = 0.25 + 0.06 x  900 

                                                                      1,000 

   = 0.25 + 0.06 X 0.9  

   = 0.25 + 0.054  

=  0.304 

 

.%dylhskaf.a wfmalaIs; wkqmd;h = 0.3 
^,l=Kq 03& 

^uq¿ ,l=Kq 10& 
miajk m%Yakh i|yd fhdað; W;a;r(   

mßÉfþoh 04 - o;a; bÈßm;a lsÍu iy úia;rd;aul mshjr 

mr;rh 
 

uOH 
w.h 

(𝒙) 

ixLHd;h 

(𝒇) 

iuqÉÑ; 
ixLHd;h 

(C𝒇) 

𝒇𝒙 𝒇x2 

30 - 39 34.5 13 13 448.5 15,473.25 

40 - 49 44.5 15 28 667.5 29,703.75 

50 - 59 54.5 22 50 1,199 65,345.50 

60 - 69 64.5 25 75 1,612.5 104,006.25 

70 - 79 

(uOHia: 

mka;sh) 

74.5 35 110 2,607.5 194,258.75 

80 – 89 84.5 28 138 2,366 199,927.00 

90 - 99 94.5 22 160 2,079 196,465.50 

  160  10,980 805,180.00 

                                    

(a) uOHia:h  (Md)                                          

     𝑛

2
= 80 ,  uOHia: mka;sh 69.5 – 79.5(70 – 79) 

L1 = 69.5   n = 160              Fc = 75           Fm  = 35         C = 79.5 – 69.5 = 10 

Md = L +
( 

𝑛

2
− 𝐹𝑐 )

𝑓𝑚
 × 𝑐 

 

                            Md = 69.5 +
(80−75 )

35
 × 10 

                            Md = 69.5 + 1.43 
                             𝐌𝐝 = 𝟕𝟎. 𝟗𝟑 

     ^,l=Kq 03& 
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 (b) 
       uOHkh            =   ∑ 𝒇𝒙 
                    ∑ 𝒇 

                     =  10,980 

                  160 

                       =  68.625 
      ^,l=Kq 03& 

(c) 

iïu; wm.ukh   = √
805,180    

160
− 68.6252        

                                   =√5,032.375–  4,709.391 

                                          = √322.984 

          =   17.97 

     ^,l=Kq 04& 
^uq¿ ,l=Kq 10& 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
  

B fldgfiys wjidkh 
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^uq¿ ,l=Kq  20& 

yhjk m%Yakh ioyd fhdað; W;a;r(  

mßÉfþoh 02 - jHdmdr i|yd uQ,H .‚;h 
 
(A) (a) 

  A       = 
 SRn (R−1) 

Rn−1
 

             = 
700,000 ×(1+0.08)5 (1+0.08−1)

(1+0.08)5−1
 

             = 
82,282.3723

0.4693
 

             =  175,319.52 

úl,am l%uh  
     
                                  x[1 - (1+r)-n]                               A = 700,000,  n = 5,  r = 0. 08 

A        =                                  
      r  

 
          x[1 – 1.08-5]  

       700,000  =                   
    0.08  

                x     =   700,000 X 0.08   

          [1 – 1.08-5]     

  

                 X   =   175,319.52  

 

 jd¾Isl jdßlh re.175,319.52 
^,l=Kq 03& 
 

(b) 
jir  

 
wdrïN Kh 

uqo, 
 

fmd,sh 8] 
 

m%d.aOk wdmiq 
f.ùu 

 

fmd<sh  
 

jir 
wjidkfha 
m%d.aOkh 

1 700,000.00 56,000.00 19,319.52  175,319.52 580,680.48 

2 580,680.48 46,454.00 128,865.00 175,319.52 451,815.48 

3 451,815.48 36,145.00 139,174.52 175,319.52 312,640.96 

4 312,640.96 25,011.00 150,308.52 175,319.52 162,332.44 

5 162,332.44 12,986.59 162,332.00 175,319.52 - 

  ^,l=Kq 03& 
 

fldgi - C 
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 (B) 
mßÉfþoh 02 - jHdmdr i|yd uQ,H .‚;h 

 (a)  

jir  
 

uqo,a m%jdyh 
D.F. (12%) 

j¾;udk w.h  
(A) 

j¾;udk w.h  
(B) A B 

0 (100,000) (200,000) 1.000 (100,000) (200,000) 

1 60,000 103,000 0.893 53,580 91,979 

2 45,000 70,000 0.797 35,865 55,790 

3 40,000 50,000 0.712 28,480 35,600 

NPV    17,925 (16,631) 

 
 
A jHdmD;sfha Y=oaO j¾;udk w.h = + 17,925 

B jHdmD;sfha Y=oaO j¾;udk w.h =  (16,631) 

 
úl,am l%uh 
 
jir                 0   1   2   3 
uqo,a m%jdyh     (100 000)  60 000             45 000                        40 000 

 
Y='j'w' ^NPV& = uqo,a m%jdy .,dtafï j¾;udk w.h  -  uqo,a m%jdy .,dhEfï j¾;udk w.h  
  

𝑃𝑉   =
𝑋

(1+𝑟)𝑛  r =0.12  𝑃𝑉 =
𝑋

1.12𝑛 

  

 𝑁𝑃𝑉 =
60,000

1.121 +
45,000

1.122 +
 40,000

1.123 − 100,000 

 
 𝑁𝑃𝑉 = 117,916.36 – 500,000 
                  =  17,916.36 

^,l=Kq 05& 
 

jir   0   1   2   3 
uqo,a m%jdyh  (200,000)  103,000         70,000                        50,000 
 
 Y='j'w' ^NPV&  = uqo,a m%jdy .,dtafï j¾;udk w.h  -  uqo,a m%jdy .,dhEfï j¾;udk w.h  
  

   𝑃𝑉 =
𝑋

(1+𝑟)𝑛  r =0.12  𝑃𝑉 =
𝑋

1.12𝑛 

  

 𝑁𝑃𝑉 =
103,000

1.121 +
70,000

1.122 +
 50,000

1.123 − 200,000 

 
 𝑁𝑃𝑉 = 183,356.87 – 200,000 
                  = (16,643.13) 

   ^,l=Kq 05& 
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(b)  

                                               A jHdmD;sh         B jHdmD;sh  

wdfhdackh              100,000  200,000 
Y=oaO j¾;udk w.h  17,925                          (16,631) 
 

A jHdmD;sfha Y=oaO j¾;udk w.h Okd;aul fõ' jHdmD;sh B iDK Y=oaO j¾;udk w.hla  
we;' 
ta ksid A jHdmD;sh fyd|u wdfhdackhhs'             ^,l=Kq 02& 
 
(C) 
mßÉfþoh 06 - iïNdú;dj iy tys fhÿï 

 
A - YsIHhd ,sÅ; úNd.hla iu;a ùu 
B - YsIHhd m%dfhda.sl úNd.hla iu;a ùu 
 
P(W) =1/2 P(P) = 1/3  P(WՈP) = 1/4 
 

  P(W/P)  -  YsIHhd m%fhda.sl  úNd.h iu;aù we;s nj § we;s úg tu YsIHhd ,sÅ; 
úNd.h iu;a ùfï iïNdú;dj' 
 

                                     𝐏(𝐖/𝐏) =
𝐏(𝐖Ո𝐏)

𝐏(𝐏)
 

=
1/4

1/3
 

 

    = ¾ fyda 0.75 

 
^,l=Kq 03& 
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(D) 
mßÉfþoh 06 - iïNdú;dj iy tys fhÿï 
    

X : yuqod fin¿kaf.a Wi (cm) 
 
 µ= 170  σ = 5 
 

        𝑍 =
X  −  µ

σ 
                                    

                   𝑍 =
X  − 170

5
     

     X = 180 

                𝑍 =
180  − 170

5
     

                   𝑍 = + 𝟐 

 

     0.4772   
 
 
              0.5 – 0.4772 = 0.0228   
 
                                                                                       x     
                                              170 180   
  z 
    0         + 2 

 
 Pr(x > 180 )    = P (z>2) 

                                   = 0.5 - 0.4772 

                                   = 0.0228 or 2.28%  

 
  ^,l=Kq 04& 

^uq¿ ,l=Kq 20& 
 
 
 
 
 
 
 
 
  

C fldgfiys wjidkh 
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Notice:  
 
 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 
especially for the benefit of those students who are engaged in self-studies. These are intended to 
assist them with the exploration of the relevant subject matter and further enhance their understanding 
as well as stay relevant in the art of answering questions at examination level. 
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